
Ranger/BroncoII/Explorer Leaf Spring Specifications and Replacement Part Numbers
FORD EXPLORER PART # DESCRIPTION
(91-01) Ford Explorer, 2dr Sport, 4dr Models, 
2wd&4wd
REAR  
CODE: U

43-967HD
2-1/2(W)X25-11/16(S.E.)X30-15/16(L.E.) 4/1 Lvs 4/360 1/590 1,700 Lbs Capacity. Front and Rear Bushings INCLUDED. Uses 9/16 Eye Bolt 
Front and Rear.

(95-01) Ford Explorer 4dr & 2dr Sport, Mercury 
Mountaineer 2wd&4wd  
REAR  
CODE: F
(01-02) Ford Explorer Sport Trac PU 2wd,4wd
REAR

43-1389HD 
2-1/2(W)X25-3/4(S.E.)X31(L.E.) 4/1 Lvs  1/.341  1/.323  1/.307  1/.291  1/.590  1,650 Lbs Capacity.  Front and Rear Bushings INCLUDED.  Uses 
9/16 Eye Bolt Front and Rear.

(03-06) Ford Explorer Sport Trac 2wd,4wd  

REAR

43-1549HD
2-1/2(W)X25-3/4(S.E.)X31(L.E.) 4/1 Lvs.  1./341  1/.323  1/.307  1/.291  1/.590  1,650 Lbs Capacity.  Front and Rear Bushings INCLUDED. 
 Uses 5/8 Eye Bolt Front and 9/16 Eye Bolt Rear.

FORD RANGER PART # DESCRIPTION
(86-03) Ford Ranger 2wd, 4wd
REAR

43-781HD
2-1/2(W)X25-5/8(S.E.)X31(L.E.) 4/1 Lvs 2/323 2/291 1/558 1,750 Lbs Capacity Front and Rear Bushings INCLUDED. Uses 9/16 Eye Bolt Front 
and Rear.

(83-85) Ford Ranger
REAR

43-817HD
2-1/2(W)X25-5/8(S.E.)X31(L.E.) 4/1Lvs 4/323 1/590 1695 Lbs Capacity. Front and Rear Bushings INCLUDED. Uses 9/16" Eye Bolt Front, 16mm 
Eye Bolt Rear

(86-03) Ford Ranger 2wd,4wd
REAR
(86-03) Ford Ranger P/U 2wd,4wd
REAR

(04-11)Ford Ranger 2wd&4wd,

REAR

43-1503HD
2-1/2(W)X25-3/4(S.E.)X31(L.E.) 4/1 Lvs. 4/.323 1/.558 1,750 Lbs. Capacity. Front and Rear Bushings INCLUDED, uses 5/8" Bolt Front and 
9/16" Bolt Rear. 

(04-09)Ford Ranger 2wd&4wd, 43-1505

REAR

FORD BRONCO II PART # DESCRIPTION
(84-90) Ford Bronco II

REAR

42-821XL
2-1/2(W)X25-3/4(S.E.)X30-7/8(L.E.) 6 Leaf 3/307 2/262 1/249 1,500 Lbs Capacity. Front and Rear Bushings INCLUDED. Uses 9/16 Eye Bolt 
Front and Rear.

2-1/2(W)X25-3/4(S.E.)X31(L.E.) 2/1 Lvs. 2/.341 1/590  1,100 Lbs Capacity.  Front and Rear Bushings INCLUDED.  Uses 5/8" Bolt Front and 
9/16" Bolt Rear.

42-821
2-1/2(W)X25-3/4(S.E.)X30-7/8(L.E.) 5 Leaf 2/307 2/262 1/249 1,020 Lbs Capacity. Front and Rear Bushings INCLUDED. Uses 9/16 Eye Bolt 
Front and Rear.

43-863
2-1/2(W)X25-5/8(S.E.)X31(L.E.) 3/1 Lvs  3/.291 1/.662  1,350 Lbs Capacity.  Front and Rear Bushings INCLUDED.  Uses 9/16" Eye Bolt Front 
and Rear 

43-1069 
2-1/2(W)X25-11/16(S.E.)X30-15/16(L.E.) 2/1 Lvs. 1/323 1/341 1/558 1,110 Lbs. Capacity. Front and Rear Bushings INCLUDED. Uses 9/16 Eye 
Bolt Front and Rear.

43-1503 

2-1/2(W)X25-3/4(S.E.)X31(L.E.) 3/1 Lvs. 1/.307 2/.291 1/.558 1,200 Lbs. Capacity. Front and Rear Bushings INCLUDED, uses 5/8" Bolt Front 
and 9/16" Bolt Rear.

43-1549
2-1/2(W)X25-3/4(S.E.)X31(L.E.) 3/1 Lvs.  1/.341  1/.307  1/.291  1/.590 1,200 Lbs Capacity.  Front and Rear Bushings INCLUDED.  Uses 5/8 
Eye Bolt Front and 9/16 Eye Bolt Rear.

43-781
2-1/2(W)X25-5/8(S.E.)X31(L.E.) 3/1 Lvs 2/307 1/291 1/558 1,250 Lbs Capacity Front and Rear Bushings INCLUDED. Uses 9/16 Eye Bolt Front 
and Rear.

43-817
2-1/2(W)X25-5/8(S.E.)X31(L.E.) 3/1 Lvs 3/323 1/590 1,350 Lbs Capacity. Front and Rear Bushings INCLUDED. Uses 9/16" Eye Bolt Front, 
16mm Eye Bolt Rear

43-967

2-1/2(W)X25-11/16(S.E.)X30-15/16(L.E.) 3/1 Lvs 3/360 1/590 1,250 Lbs Capacity. Front and Rear Bushings INCLUDED. Uses 9/16 Eye Bolt 
Front and Rear.

43-1159 

2-1/2(W)X25-11/16(S.E.)X30-15/16(L.E.) 3/1 Lvs 2/.323  1/.307  1/.590  1,100 Lbs Capacity.  Front and Rear Bushings INCLUDED.  Uses 9/16 
Eye Bolt Front and Rear.  UNDER AXLE/UNDERSWUNG APPLICATION

43-1389
2-1/2(W)X25-3/4(S.E.)X31(L.E.) 3/1 Lvs  1/.341  1/.307  1/.291  1/.590  1,200 Lbs Capacity.  Front and Rear Bushings INCLUDED.  Uses 9/16 
Eye Bolt Front and Rear.   


